s s

St

(x) = 3x% = 7Tx? + 5x+ 25 3x— 1 2 Uiz Ho] 3} Y&

¥ -2x41,4HA 3

T2 -2x4+1,4HA 2

P 42x 41, 4R 3

CxZ e 2x 41, v A 2

T2+ 2x+1,4HA] 1



2. (P34 30t 4) (x4 20-5) F ANF AoIA 2 2] A Fot?

@D 10 ® 15 A 19 @ 21 B 25



3. SA3x+4=alx-1)+b(x+1)+3°] x| izt F52lo] H=E
& a, b2l & AHsHE?

@Da=1,b=0 @ a=-1,b=2 @ a=1b=-2

@ a=0,b=2 ®a=1,b=2



ohg S410] xol Te G5 Aol HES A% a,b,c o] L Totolet,

ax?—x+c-3=2x2-bx-2

0 ©O
I I
S 2
Il |

v
L
9}

[



5. a=2+V3i, b=2-+3i 4o = + 2o gt patedat (o,

i=V-1)

Ok
=%






1 3
7. -4<x<a, 1<y<5oA §x+3y94 ZHigtol 164w, a =7

D -2 ® -1 3 0 @ 1 B 2



N ™
A A
= =
A
HooW
Yool ep\ [
\ Vv
= =
@ @
o™ <t Nej
AN AN AN
= = =
A
Mo o
1O [N | <D | O
\% \ \%
= = =
©@ © ©



9.

o 5 4 Afole] A2l Tatelet

A(V3-1,1-+2), B(V3, 1+ V2)




10. %A A2 7), B(-1, 3)4ol9] A2 Tjelal.

ge



o_a

(m, 3), (1, m) ©] 71&717t m

%A
HH
ﬂ,

m >0 ©]
o, m

11.

?

o
—

® 5

@ 2

® 3

® V2

D1



12.

M4 x-3y+6 = 0 0] YERFE 419] 718719}y
59

Wl =

1
@5,—2 @)
@ 3, -2 B -3, 2



13. A1, -2), (3,6)
o, a - b9 72?2

D1 ® 4

mlo



2x+y-a’+4=0
(a+1)x+2y-10=0

a9l 3427
® -3 @ -1
@1 @ 3

B EA5HA] o=t}



St
=

ax+b =t

y:

® 2 3 3 @ 4 B 5

1



16 A - —4 = —9y — 2= =
. _'_': APS (o) =
4x
3y
4
=0
O] Va
l. %EI_;LC’,}.O:]
Y_AI/]—.

a

it



17. 5 A 4x+3y-1=0%4x+3y+5=07° AE 4 2 0
5d ] gk< steft.

B
=¥



18.

® (1, -5)



s

+diz=-1+4iE

z
L
-

i)

@ 4 ® 5 @ 6 ® 7

@D 3



20.

Ty = a2 + hkx Q) DI A y = —x + 40 A of, F4 k9
27

3 5
@1 @ 5 ® 2 @ 3 ® 3



ARG 1 - 11x% + 30 = 0] U]

21.

W, a2 + 529 g2

5}
=

=2 bt

® 9 ® 10 @ 11 B 12

@D 8



OIS ¥ tax+b <0937k 2<x<3L W, a+ b Y2

D -2 ® -1 3 0 @ 1 B 2

9



23.

OJAFRFA 2 +2x+a <09 37} -4 < x < 2 W, a9
TFstodah (P a = A9)

e =
-

Eis

ftlo



24.

A(2, 0), B(0, 2)°llA2] A2l AlFe
£ Ue= A0

D *+y>+2x+2y=2
@ xX®+y>-2x+2y=2

@ X2+y?+x-y=2

i

gto] 1291 A P(x, y) <] A

@ X242 +2x-2y=2

@ x®24+y2-2x-2y=2



|

- (x+1, y-2)°] 9gto] (3, 3)2 ]

o o

T &R

@ (3, 3) 3 (1,-2)

@ (0, 0)

® (2, 5)

@ (-1, 2)



